
Willow MK2 
Bunk Twin

fantasticfurniture.com.au

Version 1.0



Helpful bunk bed safety tips
Bunk beds should be checked periodically to ensure that the guardrail, ladder and other 
components are secure and in the correct position and all connectors are tight.

We recommend that children under the age of nine (9) do not use the upper bunk. Children 
should be discouraged from playing on the bunk bed.

No more than one occupant should use the upper bunk at any time (unless otherwise stated). 

Bunk beds should be placed a minimum of 2 metres away from any ceiling fans to prevent any 
injury to the upper bunk occupant.

We’re thrilled you’ve chosen Fantastic Furniture

Love it? Share it!
Fantastic buy! Share how it looks at home on Instagram for 
your chance to win a $250 Fantastic Furniture Gift Card!   

@fantasticfurniture

fantasticfurniture.com.au Page 2

to help create a home you’ll love!

Look like you’ve found
your Fantastic! 



Read through the instructions carefully
before you begin.

Make sure you have all the required tools.
Never use power tools unless instructed.

Identify and lay out all of the components
before you begin assembly.

Unless instructed, do not fully tighten screws
until the item is fully assembled.

ro stnenopmoc ruoy egamad nac yehT .detcurtsni yllacfiiceps sselnu sloot rewop esu reveN!
hardware if used incorrectly.

! The most common mistakes made during assembly are using the wrong hardware or getting
components back to front.

! Always use a soft surface (such as carpet or cardboard) when assembling your product to
avoid scratching or damaging the surface of the product.

! Bulky items such as wardrobes and bunk beds should be assembled in the room they will be
used as they may not fit through a door once assembled.

  .rehtegot gnoleb strap eht taht niatrec era uoy litnu eulg yna esu reveN!

rof etisbew ro lebal erac tcudorp eht kcehC .srenetsaf lla nethgit-er dna kcehc yllacidoireP!
product care instructions.

!
components please visit our website Help Centre for further assistance.

! Please see page 2 for any safety requirements or weight restrictions.

fantasticfurniture.com.au Page 3

Assembly checklist

Useful Information



Page 4

What you need
to assemble the product

Please make sure you have all these parts before you start.

fantasticfurniture.com.au

(H3) (H4)

Box 2: 
1 x Back Guardrail (P5);
1 x Front Guardrail (P6);
1 x Front Side Rail (P7);
1 x Back Side Rail (P8);
1 x Ladder (P10);
Box 3:
6 x Mesh Panels (P9).

Hardware pack

1 x Head oard Upper (P2)

36 x 
Bolts (H2)
M6x20

24 x Short Bolts
(H1)

M6x16 M6x50 M6x18
(H6)

8 x Leg Plastic Pads



Attach the back guard rail (P5) and front guard rail (P6) to 3 x mesh panels (P9) with 12 x hort
bolts (H1) and 12 x hex nuts (H4), tighten with allen key  (H5)  as shown.

Page 5

Step 1

Attach the front side rail (P7) and back side rail (P8) to 3 x mesh panels (P9) with 
12 x short bolts (H1) and 12 x hex nuts (H4), tighten with allen key  (H5) as shown  
fantasticfurniture.com.au

Step 2
(H5)



Page 5

Step 3
You will need

Insert 4 x  bolts (H2) into the bottom holes of the headboard/footboard 
lower (P3) using the allen key (H5). Do not fully tighten the bolts and leave a gap of 
5mm as shown.

fantasticfurniture.com.au

Insert 4 x  bolts (H2) into the bottom holes of the headboard/footboard 
upper (P1 & P2) using the allen key (H5). Do not fully tighten the bolts and leave a 
gap of 5mm as shown.

Step 4
You will need

4 x 
Bolts
M6x20

M6x20

(H2)

5mm

(H2)

5mm



Step 6

Page 6fantasticfurniture.com.au

Step 5

Attach the headboard and footboard upper (P1 & P2)  the front g ardrail (P6) and back 
g ardrail (P5 4 x  bolts (H2)

 the allen key (H5).
Insert 3 x long bo ts (H3) into the top holes of headboard (P1) and (P2) with the allen key (H5).

Attach the 2 x headboard/footboard lower (P3) to the front side rail (P7) and back side rail 
(P8) onto the lower bolts first then insert 4 x medium bolts (H2) into the top holes 
with the allen key (H5).

You will need

You will need

(H5)

(H5)

M6x20

M6x20

3 x Long Bolts
(H3)

M6x50



First slot on the 4 x mid posts (P4) onto the posts of the headboard/footboard lower panels (P3). 
Insert 8 x  bolts (H2) into the mid post an tighten  with the allen key (H5). 
Then carefully lift and position the upper bed above the lower bed.  that the two holes of the 
upper bed and lower bed are on the same side. Put the upper bed into position.
Then insert 8 x  bolts (H2) into the mid posts and tighten with the allen key (H5) to lock the bunk 
into position.

Note: Postion of hole for ladder

Step 8

Page 7

Attach the ladder (P10) to the bunk with 4 x  bolts (H2), tighten with 
the allen key (H5).

fantasticfurniture.com.au

Step 7

(H2)

(H5)

(H2)

(H2)

(H5)



IMPORTANT: Fully tighten all bolts on bed. Periodically check to ensure all bolts remain tight.

Step 9

Note: In the future if you require two single beds, the bunk can be disassembled. Remember 
to remove the mid posts (P4) from the bottom bed and insert the spare leg plastic pads (H6) 
as shown. 

Job Complete!
In the interest of our environment please dispose of all packaging thoughtfully.

fantasticfurniture.com.au Page 8

H6

H6

H6

H6

H6

H6

H6

H6


